E 3351 (Pages : 3) Reg. No

Name....
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Part A

Answer all questions from this part.
Each question carries 1 mark.

1. Give an example of an irrational number,

How many roots are Lhere for a quadreatic equation.

In a right angle triangle ABC, how will you define sin A,

What is a random experiment 7

What is the derivative of sin 2x ¥

Write the equation of a line passing through the origin.

7. What is the LCM of 24 and 16 7

§. Find the logarithm of 32 to the base 4.

9, A table is sold at 40 % profit. Then its selling price i ——— % of the C P,

R v g EEia

10. Compute 1% x 3% x 5% « 22

{lﬂ » 1 = 1“)
Part B

Answer any eight guestions,
Euach guestion carries 2 marks.

11. Find x if logox=— 2.

12. A coin is tossed five times and outcomes are recorded. How many possible outcomes are there ?
13. State product rule for differentiation.

14, Find the derivative of 2 cos x al x = /2.
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Evaluate .[ x” dx.
1

a"bs

Simplify 35"

Find the HCF of 805, 1127 and 1449,

Find the least number which must be added to 18265 Lo obtain a perfect square,

Lhvide 832 into two parts in the ratio 4 : 8.

6 Men or 8 Women earn Rs. 960 in one day. What is one days earning of 4 Men and 5 Women 7

If the diagonal of a square is 20 m ? Find its area.

Evaluate 0.8 x 0.7 -005 x 0.3+ 0.16 = 0.04

@ (8x2=18)
Part C

Ansier any S1X quesiions.

Eack question carries 4 marfs.

cosec 0 — oot 0

If5¢08 6 =3 evaluate S vy

Draw the graph of 3x + 2y =6.
Ifiog (a+1)=log (4a —3) - log 3. Find a.

Two dice are thrown simultaneouslv. Find I,lhe probabilily of gelling an even number as the sum,
For some given numbers their mean is 36. Find the mean of resulting numbers obtained when :
(a) Each number is decreased by 10.
(b} Each number is divided by 9.
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A can do 3 of a certain work in 12 days and B can do Y of the same work in 4 days. Find in how
many days will they together complete the work,

Find the derivative of (x —1) (x - 2),

Find [ (3 -2x)° d.

(6 x 4 = 24)
Part I

Answer any tweo gueslions,
Rack guestion carries 156 marks.

dy -
— find dxatxﬂl.

(a) IE¥=

(b} Fealuate j X [1 +xa)dx-

A person invests Rs. 5,000 for three years at a certain rate of interest compounded annually. At
the end of two years this sum amounts to Rs. 6,272

Caleulate :
(i} The rate of interest per annum.
(ii} The amount at the end of the third yvear.

A and B can do a picee of work in 40 days, B and Cin 30 days, and C and A in 24 days (i) How long
will it take them to do the work together ; (1) In what time can each finish it working alone.
The cost price of an article as 25 % below the marked price. If' the article is available af 15 %
discount and its cosl prive is Bs, 2,400, find (1) ils marked price ; (ii) Its selling price ; and {iii) The
profit-parcent,

(2% 16 = 30)




